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— 10O DRI DWW ROD K77 NPYR
The essence of the logic is refuted; for she leaves with money

OVERVIEW

"WX 27 explains that the 7nX»n 1"p can be refuted by arguing that an 72X is
no22 IXX¥Y (therefore she is 7022 n°1P1), however an AWK is not 7022 ARYY
(therefore there is no reason that she should be 7032 n°121). Our M>dOIN
discusses other ways how to refute the 1"p, and other possibilities of deriving
nD32 AWK WP from f032 12V AR PIp.

— 219312501 Y21 WA ‘NN 19Y 0PIMNY S8NT PN XD
It is just as true that *¥X 27 could have mentioned that an 72X can leave

her master after serving six years or by %31 or with %1%, which a woman
cannot, and therefore we cannot derive an WX from an 71X that she should be 7022 f71p1.

mooIN now explains why *wx 27 chose the X27°9 of 03 over the X27°0 of 11201 K2V YW -
— NP1 NNAYA N NIWT NI 799120 NY NN NON

for "wx 17 prefers to utilize a x29°2 which is also applicable to W

N2, The reason it is necessary to have a X37° for N°w1d AMOW is -
-531% YY) D007 NI 999 NYT 19939 NNAWN 0INY P Taysny s8n NNt

because the X could have made a Y'p from nopid nrmw,“ where the

X2>7°0 of 921" ww 2%»e would not be applicable;’ however the X270 of ARy
7031 is applicable even by n°1v1d andw.

nooIn asks:
— P2 9959 NNY ININ YWINLNINND APY? Y29 290 NYPN

' An 712v7 7K can serve her master for a maximum of six years. If %21 occurs during the six years she is
released; similarly if she brings N17v1 °12°0 during the six years she is also released.

2 12w 7"72 "W explains the X275 of 7022 XX 1OW to mean that since 703 is 21w by an 7MX to redeem her,
therefore it is also 21wn by her to acquire her (which is not the case by a woman). According to this
explanation we could not have used the &37°9 of 121 ww2 ARXY 19w (as MdOIN claims). It seems that Moo
understands the X375 of 7022 IRXY OW to mean that since she has additional ways to be XX, therefore the
70 offers her additional ways to be n>1p3. This reasoning applies to "1 ww as well as to 702. (See X"wn.)
? Mmoo usage of the singular X370 (and not the plural m27°) indicates that it is one X27°9; the X has
many ways to leave her master (which a married woman does not). [See 77"X footnote # 27 & 34.]

* The 1"p would be (exactly as the mnx» 1"p); if a N°1w1d AMOY who is not 7X*22 NIp1 is 7052 nN°1p), then an
7wX who is X322 n°1p1 should certainly be 7032 n°1p1.

> A D"W is not D101 YA WA NRYY (for she is indentured forever); however she is 1022 nXXY, if someone
pays the 117X to redeem her.
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The w'1%I8% ' asked that notwithstanding the X>7° on the V"p why

do we need 1" 53 to teach us that a woman is 7022 N°1p1 -
— 5780 DAY AYIPNY NUHPINN 4993 DYPN 999 AIN TPN 499 38 N9 )

Granted that it cannot be derived through a 1"'{? from 72X, nevertheless it
can be derived from a wps, for the 770 compared a woman to an %K

7992w, This wp i is derived -
— (8,30 97) 1P RNPNTI NINKD 2INON NYIPN XV NP NINN ONIN

From the P09 of ¥ np> nnR a8, which, as the X 3 states later, indicates

that the verse compared the 7nX to another, meaning another wife -
— 11971 909 HIPIY (3,1 91 NPT )9 KDY 129297 NN

And we derive later that an 7592p7 72K is 722 nup: from the 10D of

779, MmdoIN concludes his question:
— WPINN DY 1P2VUN PNRT DI NP NYN R 4D 1% NNRN NN

And just as an 7R is 7952 NP, so too should an 7wR be ne23 npl, for

the rule is that we do not contest a wP°7. Therefore we cannot ask any of the
m>7°s mentioned (including /032 NRYY 1OW or 0°I1°01 221" ww2), for a wpon is irrefutable.
The question remains that we can derive 702 *¥17°p for an AWX from 70 1P by an K.

MB0IN answers:
— *MvY9 /3 XYW 1Y NVII92 2D KT RINR 1IN TINY YN0 INT 930 U

And one can say; if we would derive 703 *v17°P by 7wX only from the wps
to X, we would have said that a 7w is not sufficient for PvI7°p 702,

and that there can be no 7"217°? unless the w17°2 7102 will be two nwITD -
— P9 N9MT NY9a¥N NANA 19¥aTS

As we require for the 117 of an 175927 %K as is evident later in the xn.

mooin offers an alternate answer, why we cannot derive 7wX from the wp°i to 7mK:
— 4901 XIN 903 15393 759290 NNRRT NPT NIT 11§90 YNNI 19939

6 XD (Dvown) nmmw. The p1oo is discussing a case where the 717X was 7v°n the nnX for an TwX. The 109
states that if the 178 will marry another wife [1? m> nanR oX], he must make sure that his original wife [the
mnR] will not lose any of her privileges that she is entitled to. The fact that the 770 refers to an 7w as an
nanR [another] in relation to the 7inR indicates that the WX is another one similar to the nnR (turned 7WK).

7 The fact that an 7nX can be redeemed (with money) against the wishes of her master indicates that she was
bought (with money); otherwise how is she redeemed 717%7 2"y2.

¥ See “Thinking it over’ # 1.

? See the X713 on 2,X* (and X,2°) that there must be sufficient money in the purchase of an X that her father
will be able to redeem her (return some of the money after she worked a while). If she was purchased with
only a 7v172 there can be no way to redeem her (with less than a 71179 [for that is not considered money]).
10 1,80 (2wown) Naw. *"wI in N°ap1 "7 writes that we derive that an 7aR is 70232 nN°3p1 from the 105 of AN
NIPn (R1,75 XIP™). According to *"w7'd the answer of 1"7 is not valid. However (as the X"w27n points out)
the P09 of 1n1pn nOIN is discussing an 1217 15137 *72Y 72¥ but not an 7°12¥7 AN as the XA states on 2,7°.
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And Yxin1 ' answered; since we do not know that an 7192w a8 is nop:

nes3, only from the 17727 7109 (and she will be redeemed), which teaches -
— 19053 %93 9D AN ININT

That since the 71X leaves by means of money (i.e. she is redeemed) hence it

1s logical that she is 922 no1p1. Therefore, since the 7110 did not write explicitly PIp
702 by an 7mX but rather it is derived from the fact that she is redeemed with 703,

therefore
$1199290 NNN D YU NN NN NNNINIAY 29D YN DY 1237 19390 192999 XD

We cannot derive from %X the 1P of an MwWR with 702, since by the
7R3> of an WX, there is no 7933 IX°%> as there is by 7727 7.

SUMMARY

"WX 27 chooses the ¥37°5 of 702 (as opposed to 121 ww) because that can also
refute a1"p from n°1vid now.

We do not derive 703 "1 7°p from the w17 of NANX for then we would require
two Mo for PYYTP, or because 7022 MR PIP is derived from ARk NRY
7052 which is not applicable to an 7wX.

THINKING IT OVER
1. If we would derive 1"pn AwXR from 7nX why should we not also say that
two MuID are required (just as by *max) for 1713 MR P 0 R2S 172

2. We cannot derive nwX from 7nX trough a wpn since the 1P of AnX is
derived from 779 which is not applicable to an 7wX. How then can we
derive TwWX from a 17781 "' since 1R 1s derived from a7om?!

3. What is the difference between the X27°9 of 7022 XX 1DW IMRY 771 (which
according to md01n could not be used to refute the wp>7) and the refutation of
the w11 (according to 1"7) based on the concept that 72X 117 is derived from
7022 MR NX°X* which is not applicable by 7wxX. Both refutations seem to be
based on the same premise that an 77X is 1033 X% and an WK is not!'®

a1 b,

2 See “Thinking it over’ #2 & 3.
13 See footnote # 8

1 See [ra] X",

% See (1:102) 1 MK DYV TP
16 See n"nx footnote # 50.

3

TosfosInEnglish.com



